STAT 1350, 4/14 Discussion Questions

1. What is the formula for the standard deviation for the sampling distribution of a proportion?

2. What is the formulalfor the standard deviation for the sampling distribution of a mean?
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3. What is the formula for a confidence interval for a proportion? For a mean?
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4. Give at least one way to find the z-score needed for the confidence interval. What are some
typical values? (For, say, 90%, 95%, and 99% confidence.)
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A recent Gallup Poll interviewed a random sample of 1523 adults. Of these, 868 bought a lottery ticket
in the past year.

5. What is a 95% confidence interval for the proportion of all adults who bought a lottery ticket in
the past year? Use the formula in this chapter, not the “quick method”.
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6. Suppose that in fact (unknown to Gallup) exactly 60% of all adults bought a lottery ticket in the
past year. If Gallyp took many simple random samples of 1523 people, the sample proportion
who bought a ticket would vary from sample to sample. The sampling distribution would be
close to normal with what mean and standard deviation?
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7. The same Gallup Poll asked its 1523 adult respondents and also 501 teens (ages 13 to 17)
whether they generally approved of legal gambling: 63% of adults and 52% of teens said yes.
The margin of error for a 95% confidence statement about teens would be what? Use the
formula in this ch|apter (standard score * standard deviation of the sampling distribution) not
the quick method.
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8. Although the resu

t will vary if the poll is repeated, the distribution of results is centered at the

truth about the population (66%). We call this desirable property of a simple random sample

what?
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9. For a 95% confide

ﬁ(%uﬁﬂj fwuf Theorenc

¢ Lac

nce mterval a Iarger sam ?Pg‘sme will generally do what to the width of the

confidence interval?
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10. A sample survey finds that 30% of a sample of 874 Ohio adults said good health was the thing
they were most thankful for. If that sample were a simple random sample from the population

of all Ohio adults,

who feel that way?
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11. If the 874 people
would this affect

what would be the 99% confidence interval for the percent of all Ohio adults
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n the previous question had called a 900 number to give their opinions, how
our response’?
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12. Arecent survey o[l35,101 randomly selected U.S. adults studied the religious affiliation of

Americans. Thes

rvey interviewed 245 people in Maine. Suppose that this is a simple random

sample of adult risidents of Maine. Of these 245 people, 56 said they attend religious services
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ek. A 95% confidence interval for the proportion of all residents of Maine

who attend religious services at least once a week is approximately what?
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13. Describe the basic prin
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ciples of the Central Limit Theorem in your own words?
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